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1 25 ipdpd =B el 5 0000 win shS5 <mss 1460= SlowStart
2 |75 B pB > iphpd 5 0:0(0) ack 1 win 8MSS <mss 1000 3 1
E; 123 iwh pd = 1B oB:  ack 1 win BNES
4 125 iphpd > ipB pB: 1:1461(1460) ack 1 win aMSS 0
5 175 ipB.pE = iphph ack 1461 win 7MSS Z 7 2
& | 225 iph pd > ipB pR: 1461:2921(1460) ack 1 win M35 1
T | 225 b ph = B pB 29214381(1460) ack 1 win SMSS 0
2 | 2rs ipB.pE = ipA ph ack 2921 win 605 3 6 3
a | 275 pB.pE = iph ph . ack 4351 win Moo 4 5 |
10 | 325 iph ph > ipB pB: 4381:5841(1460) ack 1 win 8MSS 3
11 | 325 ipd ph > pE.pB: 5841:7301(1460) ack 1 win SMSS 0
s e 2 303 ipd phd > pB pB 73018761 (14607 ack 1 win M55 1
e 13 | 325 b ph > pB.pB: 8761:10221(14607 ack 1 win 8155 0
cT T 4 [375 ipB.pE = iph ph  ack 5841 win 4055 5 4 1
15 | 375 ipB.pE = iph ph . ack 7301 win 3Mo5 6 3 3
ik 0 16 | 375 ipBpB = iphph  ack 3761 win 2MSS 7 2 2
7 | 375 | pB.pB = iphph. . ack 10221 win 153 g |1 |1
: 18 | 425 ipd pd = pB.pB; 10221:11681(1460) ack 1 win 2MoS 0
19 | 475 ipB.pE = ipA ph ack 11681 win 1MoS g 1 1
20 | 525 iph ph = B pB: 11681:13141(1460) ack 1 win 2SS 0
21 | 575 ipB.pE = ipA ph ack 13141 win 2MSS 10 |2 2 CongAveid
22| 625 iph ph > pE.pB: 1214114601 (14607 ack 1 win 8158 1
23 | 625 iph pd > pB.pB. 14601:16061 (1460 ack 1 win 8MSS 0
24 | 675 ipB.pE = iph ph  ack 14601 win SMoS 10 |5 5
25 | 675 ipB.pE = iph ph . ack 14601 win 4455 11 |4 4
725 ipdph > pE.pB: 1606117521 (1460) ack 1 win 8155 3
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